Spravne odpovede na ulohy do 4.5 2020
Ucebnica str. 67/4

Pracovny zosit str. 54/3, 55/4, 55/5
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/ It's quarter to eight. Complete the sentences

with the present continuous of the verbs in
brackets.

1 Rob ‘s having a shower (have).

2 Amyhﬁ&@\q her homework. (finish)

3 Mr Clarke M_/w( a cup of coffee. (make)
4 My parents & Liduiu & the radio. (listen to)

5 Sam AL_;MM his books in his bag. (put)
6 Mrs Wilson _M_M_dﬂ_ﬂg the newspaper. (read)

Present continuous

3 © Dané slovesa dajte do priebehového
pritomného ¢asu. Pouzité piné tvary.

Mark s reading _ a magazine. (read)

My mum 42 W to the shops. (go)

My father //JVO(/WVVM? to work. (drive)
Lidya 4> fuarime  dinner. (have)

Joey and his friend orw wadinas for the bus.
(wait) 5

6 They vw MOCW‘?TV. (watch)

7 Frank 4o sidding,  on the sofa. (sit)

Natalie 4 Mmav clothes. (buy)
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V cviceni 55/5 v PZ ste mali viac moZnosti, kazdy pisal podla svojho uvazenia a pozorovania obrazku.



